7] I] ii E"J QI:%:- 'ti (_) iR ZBE TR

N BN

AR R %fr%f_j»ﬁ 5412 = (+2)
Bl S 24 FF 4
+8= (+2) i
(APl N £ 1248 (1)
Bad o230
5 +5= (19)
B EE S AR s B R ’
FRA5+12+8=124+8+5 - i WS I\
R/
2. (a) (i) 31+17+9 (ii) 31+9+17 (i) 9+17+31
=9 =___ +u = +31

D mrzgyfagty2%* ok [ 240k (FBIDE %)
= A& - fEH 2 AT mIEE X
EEEMEY  ERDEMBEM - \JIE

IN4 | SHRIER A SE




B CLASSROOM
CLASSROOM m SRR F&)gEﬁIA{\.AES

3. % P s o 2

(a) 33+19+21

(b) 46+18+24 (c) 17+9+53

4 r

4 3 BrApk ol S koo

) 2 [
(a) 14+40+5 (b) 14+36+19 (c) 38+2+21
( J (] [ ]
( J (] [ ]
9-+21+39 4141743 154+35+9

/@

= 5. 4% 16+ 710 +54=02 FRA-L = 9

Y
OA. 22 OB. 23
OC. 32 OD. 34

IN4 | SHRIER A SR




